cs115 Exercise Set 5
1. What is the output of the following code:

int season = 4;

switch(season)

{

case 1:

System.out.println(“Season is Winter.”);

break;

case 2:

System.out.println(“Season is Spring.”);

break;

case 3:

System.out.println(“Season is Summer.”);

break;

case 4:

System.out.println(“Season is Fall.”);

break;

default:

System.out.println(“Season is Invalid.”);

break;

}

2. What is the output of the following code:

char c = ‘e’;

switch(c)

{

case ‘c’:

System.out.println(“letter 1.”);

break;

case ‘d’:

System.out.println(“letter 2.”);

break;

case ‘e’:

System.out.println(“letters 3 and 4.”);

break;

case ‘f’:

System.out.println(“letter 5.”);

break;

default:

System.out.println(“Unknown letter.”);

break;

}

3. Assume the following code :

boolean b1 = true; b2 = false;

int a1 = 14, a2 = 896;

4. Where is the error in the following code:

b1 = a1 && a2;

5. Where is the error in the following code:

(b1 == b2) AND ( a1 <= a2);

6. Where is the error in the following code:

if (a1 == 14);

System.out.println(“a1 equals 14.”);

7. Where is the error in the following code:

if b1

System.out.println(“b1 is true.”);
8. Where is the error in the following code:

if { b2 == true }

System.out.println(“b2 is true.”);

9. Where is the error in the following code:

if (b1 == true)

System.out.println(“b1 is true.”);

else

System.out.println(“b1 is false.”);

else if (a1 < a2 )

System.out.println(“a1 is less than a2.”);

10. Examine the following code:

if (b1 == b2)

System.out.println(“b1 and b2 are the same.”);

else if (a1 == a2)

System.out.println(“a1 and a2 are the same.”);

else 

System.out.println(“b1 is not the same as b2, and a1 is not the same as a2.”);

a. Assign values to b1, b2, a1,and 2 such that “b1 and b2 are the same.” is displayed.

b. Assign values to b1, b2, a1,and 2 such that “a1 and a2 are the same.” is displayed.

c. Assign values to b1, b2, a1,and 2 such that “b1 is not the same as b2, and a1 is not the same as a2.” is displayed.

11. Write a program that prompts the User for a number.  Use a switch/case statement to determine if the number is a 10, 20 , 30 , or 40.  If it is one of those numbers, display which number was entered.  If it is any other number, display the number that was entered plus display an error message.  After the switch case, if the number is either 10 or 20, display the message “Lower values require ID.”

12. Write a program that prompts the User for a vowel.  Use a switch/case statement to determine which vowel was entered, and display which vowel was entered.  If the letter entered was not a vowel, display an error message, and the consonant entered.  After the switch/case, if the vowel entered is an ‘a’, ‘e’, ‘i’, ‘o’, ‘u’, or ‘y’, display that the user entered a lower case letter.  Otherwise, if the vowel entered is an ‘A’, ‘E’, ‘I’ , ‘O’, ‘U’, or ‘y’, display that they entered an upper case letter.  Otherwise, display that they don’t know what a vowel is.

